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Introduction 
 

 
 
 
 

Welcome to this Anti-Sicilian repertoire. The Sicilian is Black’s most common response to 1 

e4 and a real headache for most players. Of course we can try the Open Sicilian, but this 

requires a thorough knowledge of each different Sicilian variation, as well as keeping on 

top of all the theoretical developments. If you are a Sicilian player yourself, you will also 

realize another practical problem: the lines of the Open Sicilian require so much knowl-

edge and experience that players on the black side spend their whole lives debating differ-

ent move order nuances on internet forums and studying new games so that they are very 

well prepared for their particular variation. Thus a Dragon player will have played hun-

dreds of games in the Yugoslav Attack and understands the resulting positions, but a white 

player also has to contend with the Najdorf, the Sveshnikov, the Classical, the Kan, the Tai-

manov and many other lines. However, often those who employ the Sicilian as Black have 

failed to look at the sidelines in any depth. 

In this book I am suggesting lines that promise White good strategic chances. I’ve also 

tried to keep Black’s counterplay under wraps, which will really frustrate the average Sicil-

ian player. Of course I have also made sure that we have attacking chances of our own. 

With this repertoire you will be able to dictate the nature of play yourself and with greater 

understanding in and greater experience of the resulting structures, your results should be 

very promising. 

 

The Structure of this Book 
I am recommending a repertoire with 3 Íb5 against 2...d6 and 2...Ìc6. The Moscow Varia-

tion (1 e4 c5 2 Ìf3 d6 3 Íb5+) has a reputation as a route to drawish positions, but as I 

prove in this book, White can play these positions for a win and its reputation is ill de-

served. A lot of Sicilian players really dislike playing the arising positions as they are de-

prived of their typical counterplay. 

The Rossolimo Variation (1 e4 c5 2 Ìf3 Ìc6 3 Íb5) is the most theoretical part of the 

repertoire and has been discussed in countless super-grandmaster games. I advocate tak-

ing on c6 and playing against Black’s structural weaknesses on the queenside. In both the 

Rossolimo and the Moscow Variation we will be utilizing many ideas of the Russian Grand-

master Sergei Rublevsky. 

Against 1 e4 c5 2 Ìf3 e6 it is harder to find a good Anti-Sicilian, but I like my suggestion 

of the King’s Indian Attack. The lines examined in the two chapters on it are more ideas-

based than theoretical, but have served me well for the past ten years. Finally, I wrap up my 

coverage of the Sicilian from White’s perspective with a look at Black’s minor lines. 
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Game 29 
G.Kasparov-J.Polgar 
Prague (rapid) 2002 

 
 

1 e4 c5 2 Ìf3 d6 3 Íb5+ Ìc6 4 Íxc6+ bxc6 

5 0-0 e5 6 c3 g5?! 

W________W 
[rDb1kgn4] 
[0WDWDpDp] 
[WDp0WDWD] 
[DW0W0W0W] 
[WDWDPDWD] 
[DW)WDNDW] 
[P)W)W)P)] 
[$NGQDRIW] 
W--------W 

Excessively risky. Polgar was in a must-

win situation in the mini-match which 

prompted this move, but as we will see, 

Kasparov wasn’t going to shy away from a 

challenge. 

As well as 6...Ìf6, 6...Íg4 and 6...f5, 

Black has also been known to try: 

a) 6...Ìe7 is another rare approach, but 

was seen in one high-rated clash: 7 d4 Ìg6 

was P.Svidler-V.Zvjaginsev, Moscow 2005, 

when I like the immediate 8 dxe5 Ía6 

(8...Ìxe5 9 Ìxe5 dxe5 10 Ëxd8+ Êxd8 11 

c4 is very ugly, especially as Black has no 

knight to stick on d4) 9 Íg5! f6 (both 

9...Ëc7 and 9...Ëb8 can be dealt with by 10 

exd6) 10 exf6 gxf6 11 Íe3 Íxf1 12 Ëxf1 

which gives White great compensation for 

the exchange, with a pawn and play on the 

light squares. 

b) 6...Ía6 has also been tried from time 

to time: 7 Îe1 Íd3 (the only logical con-

tinuation of Black’s previous move; 7...c4 is 

dealt with efficiently by 8 Ìa3! Ëa5 9 b4! 

cxb3 10 axb3 Ëc7 11 d4 and already White 

has taken full control, M.Etmans-C.Baljon, 

Leeuwarden 1997) 8 Îe3 c4 9 Ëa4 Îc8 was 

seen in I.Rausis-M.Bosboom, Loewenstein 

1997, and here White has a choice of which 

pawn to take: either 10 Ìe1 or 10 Ìa3 f5 

11 exf5 Íxf5 12 Ìxc4, both with a clear 

advantage to White. 

7 d4! 

W________W 
[rDb1kgn4] 
[0WDWDpDp] 
[WDp0WDWD] 
[DW0W0W0W] 
[WDW)PDWD] 
[DW)WDNDW] 
[P)WDW)P)] 
[$NGQDRIW] 
W--------W 

The move that ...g5 was designed to pre-

vent. If Kasparov can successfully get away 

with this move then I think we can hope 

our opponents play ...g5 too. White sacri-

fices a pawn, but in return Black has a lot of 

holes in her structure. 

7...g4 8 Ìfd2 cxd4 9 cxd4 exd4 10 Ìc4 c5 

Polgar holds on to her extra pawn so 

that she at least has something for her suf-

fering. 

The first time this position was reached 

Black tried 10...Íg7, but following 11 Íf4 

Íe6 (11...d5 12 Ìd6+ Êf8 13 exd5 cxd5 14 

Ìxc8 Îxc8 15 Ëxg4 is equally horrible) 12 

Ìxd6+ Êf8 13 Ìd2 (13 e5!? Ëb6 14 Ìd2 

Ìe7 15 Ì2c4 Ëc5 16 b4 also gives White a 

great initiative) 13...Ìe7 14 Ìb3 Ëb6 15 

Îc1 Ìg6 16 Íg3 h5 17 Ìf5 in S.Rublevsky-

A.Stripunsky, Kazan 1995, Black had a really 

ugly position. Initially I thought White had 

great compensation for his sacrificed pawn, 
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but then realized he’s not even a pawn 

down! And, yes, this is yet another idea in-

vented by Rublevsky. You could do a lot 

worse than following his recent games for 

any updates on the theoretical status of the 

whole 3 Íb5(+) Sicilian. 

11 Îe1! 

W________W 
[rDb1kgn4] 
[0WDWDpDp] 
[WDW0WDWD] 
[DW0WDWDW] 
[WDN0PDpD] 
[DWDWDWDW] 
[P)WDW)P)] 
[$NGQ$WIW] 
W--------W 

Preparing the e4-e5 break. Black may 

have an extra pawn, but already her pawn 

structure has been severely compromised, 

she’s a long way behind in development 

and there’s no safe haven for her king. Ini-

tially my computer liked Black’s extra 

pawn, but even the materialistic machine is 

less optimistic now. 

11...Íe6 12 Ìba3 Íe7 

Alternatively: 

a) 12...h5 was an attempted improve-

ment in a recent game. It surprises me that 

anyone chooses to play this way with Black, 

but perhaps in this case 6...g5 was over-the-

board inspiration? L.Genova-A.Nikolova, 

Dupnitsa 2010, saw 13 Íf4 Ìh6 14 b4! Íe7 

and here White could win the pawn back 

with 15 Ëc1 g3!? (15...Ìg8 16 e5! dxe5 17 

Íxe5 Îh6 18 bxc5 Íxc5 19 Ìb5 Êf8 20 

Ìcd6 Íxd6 21 Íxd6+ Êg7 22 Íe5+ Ìf6 23 

Ìxd4 regains the pawn and leaves Black 

with no hope) 16 hxg3 Ìg4 17 bxc5 dxc5 18 

f3 Ìf6 19 Ìb5 when White has an obvious 

and clear advantage; indeed, the position is 

already close to winning. 

b) After 12...Ìf6 13 Ëa4+! (this looks 

very strong; instead 13 Íg5 Íe7 14 e5 dxe5 

15 Ìxe5 with compensation was a line 

given by Kasparov) 13...Ëd7 14 Ìb5 the 

threats of Ìxd6+ and Ìc7+ force 14...Íxc4 

15 Ëxc4 a6, although 16 e5! axb5 17 exf6+ 

Êd8 18 Ëd5 Îa7 19 Íf4 leaves White in 

total control. 

13 e5 

W________W 
[rDW1kDn4] 
[0WDWgpDp] 
[WDW0bDWD] 
[DW0W)WDW] 
[WDN0WDpD] 
[HWDWDWDW] 
[P)WDW)P)] 
[$WGQ$WIW] 
W--------W 

13...d5 

Polgar tries to keep the position closed 

but Kasparov’s next more or less refutes it. 

13...dxe5 had to be tried, but obviously 

White has great play: 14 Ìxe5 Ëd5 15 

Ìd3! (15 Ìxg4 Ìf6 wouldn’t be so clear as 

Black has successfully coordinated her 

pieces) 15...Ìf6 16 Íh6 Îg8 17 Ëa4+ Íd7 

18 Ëa5 and Black’s king has been caught in 

the centre which spells trouble. For exam-

ple, 18...c4 19 Îxe7+! Êxe7 20 Îe1+ Íe6 21 

Ëc7+ Ëd7 22 Ëxc4 would leave White with 

great compensation for the exchange. 

14 Ìd6+! Êf8 

Polgar had to continue her policy of tak-

ing the material even if 14...Íxd6 15 exd6 

Ëxd6 16 b4!, as offered by Kasparov, looks 

terrible for Black. Black’s dark squares are 

ruined and so her king will never find 
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safety. Psakhis continues the analysis with 

the line 16...Ìe7 17 bxc5 Ëxc5, but here I 

think 18 Ìc2 is more accurate than his 18 

Íb2. Then after 18...Ìf5 19 Íb2 Îb8 20 

Íxd4 Ìxd4 21 Ìxd4 0-0 22 Ëd2 White can 

continue to exploit Black’s advanced king-

side. 

15 Íf4?! 

15 b4! would be a more accurate move 

order, immediately forcing a concession 

from Black. 

15...h5?! 

15...Îb8 had to be played to prevent 

White’s b2-b4 break, even if White keeps a 

very promising position with 16 Ëd2 Ëb6 

17 Îac1, as 17...Ëxb2? loses to 18 Íh6+! (or 

18 Îb1) 18...Ìxh6 19 Ëxh6+ Êg8 20 Îb1. 

16 b4! 

W________W 
[rDW1Win4] 
[0WDWgpDW] 
[WDWHbDWD] 
[DW0p)WDp] 
[W)W0WGpD] 
[HWDWDWDW] 
[PDWDW)P)] 
[$WDQ$WIW] 
W--------W 

Kasparov finds it second time round and 

Polgar’s position collapses. 

16...c4 

16...cxb4 would put Polgar two pawns 

up very temporarily, but after 17 Ìab5 Ëb6 

18 Ìxd4 White has a decisive advantage – 

just compare the quality of the respective 

minor pieces. 

17 Ëxd4 

Now Kasparov is level on material and 

definitely up on position. 

17...h4 18 Ìab5 Îh5 19 Ëe3 

White plays a little superficially, as one 

might expect in rapid chess, and decides to 

put all his minor pieces on pretty squares in 

the centre of the board. 

As Psakhis and Palliser point out, there 

was nothing wrong with 19 Ìxa7! when 

Black can keep material equality with 

19...Íxd6 20 exd6 Ëd7 21 Íe3 Ëxd6, but 

the a- and b-pawns will roll through with-

out any meaningful opposition. 

19...Ëd7 20 Ìd4 Íd8 21 Ëd2 

An indication that Kasparov isn’t sure 

how to proceed, but luckily his position is 

good enough to give away a couple of 

tempi. 

21 f3! was the most precise way of con-

tinuing. 

21...Ìe7 22 b5 Ìg6 23 Ìc6! 

W________W 
[rDWgWiWD] 
[0WDqDpDW] 
[WDNHbDnD] 
[DPDp)WDr] 
[WDpDWGp0] 
[DWDWDWDW] 
[PDW!W)P)] 
[$WDW$WIW] 
W--------W 

Very visual knights and psychologically 

damaging for Black as those knights seem 

to suffocate her. However, she has played 

well over the last few moves and her pieces 

have started to coordinate (thanks to the 

couple of tempi which Kasparov gave her 

with his Ëd4-e3-d2 rather than capturing 

the a7-pawn). However, here Polgar plays 

too aggressively. 

23...c3?! 

All this achieves is a loose pawn. 

Taking a time out to improve the posi-
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tion of her king with 23...Êg8 was better. 

Kasparov could give up one of his monster 

knights with 24 Ìxd8 (or 24 a4 f6 25 exf6 

Íxf6 and Black’s pieces somehow make 

sense) 24...Îxd8 25 Íg5, but then 25...h3 

isn’t clear. 

24 Ëc1 

24 Ëd4!? Íb6 25 Ëb4 Êg8 26 Íe3 

would also favour White. 

24...g3? 

And this simply doesn’t work. 

25 fxg3 

25 hxg3 h3 looks risky, especially in 

rapid chess, but I don’t see a follow-up after 

26 Ëxc3 hxg2 27 Íe3 d4 28 Ëxd4 and 

meanwhile White will have an extra couple 

of pawns. 

25...hxg3 

25...Íb6+ 26 Íe3 hxg3 27 Íxb6 axb6 28 

Ëxc3 gxh2+ 29 Êh1 would bid an end to 

Black’s kingside play, but was perhaps a 

better option than the game. 

26 Íxg3 Íb6+ 27 Êh1 

W________W 
[rDWDWiWD] 
[0WDqDpDW] 
[WgNHbDnD] 
[DPDp)WDr] 
[WDWDWDWD] 
[DW0WDWGW] 
[PDWDWDP)] 
[$W!W$WDK] 
W--------W 

27...Êg7 

I’m not sure why no one has suggested 

27...d4 as an improvement here, as surely 

it’s useful to keep hold of that c3-pawn. 

After 28 Ëd1 Îg5! it’s too early to take that 

pawn on d4, but 29 Ëf3! (29 Ìxd4 Îxg3 30 

hxg3 Êg7 would turn the tables on White 

as Black’s pieces suddenly coordinate in a 

massive attack) 29...Îe8 30 Îad1 would 

leave White in complete control. 

28 Ëxc3 Îah8 29 Îf1 

Black’s play down the h-file amounts to 

nothing and Kasparov just has to play a 

couple of accurate moves and avoid tricks. 

29...Êg8 30 Îae1 

30 a4 would make sense to get that 

bishop off the annoying diagonal and thus 

open the net around White’s king. 

30...f5!? 

The move had to be tried to bring an-

other major piece to the h-file. 

31 exf6 Ëh7 32 f7+ 

Palliser and Psakhis both suggest 32 

Ìd4 Îxh2+ 33 Êg1 as a way to block out 

Black’s bishop, but here Black still has some 

compensation with 33...Îh4!. The move 

played in the game is the most accurate, 

but unfortunately Kasparov doesn’t follow 

up correctly. 

32...Íxf7 

W________W 
[WDWDWDk4] 
[0WDWDbDq] 
[WgNHWDnD] 
[DPDpDWDr] 
[WDWDWDWD] 
[DW!WDWGW] 
[PDWDWDP)] 
[DWDW$RDK] 
W--------W 

33 Ëxh8+?! 

Kasparov sacrifices his queen to get rid 

of the pressure down the h-file and take 

over the initiative himself. The extremely 

hard--to-spot 33 Íh4!! (clearing the third 

rank so that the queen controls h3) 

33...Îxh4 34 h3 is pointed out instantly by 
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the computers as completely winning for 

White. 

33...Ìxh8 34 Ìe7+ Êf8 

W________W 
[WDWDWiWh] 
[0WDWHbDq] 
[WgWHWDWD] 
[DPDpDWDr] 
[WDWDWDWD] 
[DWDWDWGW] 
[PDWDWDP)] 
[DWDW$RDK] 
W--------W 

35 Ìec8? 

This loses control and allows Black’s 

pieces some flexibility. 

35 Ìef5! was stronger, keeping the 

black pieces in the net in the corner when 

White would have great compensation for 

the queen. 

35...Ëd3 

35...Íc5!, as pointed out by Psakhis and 

Palliser, would have amazingly given Black 

the advantage. After 36 Îe8+ Êg7 37 Íe5+ 

Îxe5 38 Îxe5 Ëd3 Black is starting to take 

control and will be able to unravel her extra 

piece. 

36 Îf3 Ëc2? 

And this is the losing mistake. The 

queen had to hit the e1-rook so that 

36...Ëd2 37 Ìxf7 Ìxf7 38 Ìd6?? would fail 

to 38...Îxh2+!, although here 38 Îef1 must 

still be better for White. 

37 Ìxf7 Ìxf7 38 Ìd6 Ëg6 

Polgar is forced to give up her extra 

queen, since 38...Îh7 39 Îe8+ Êg7 40 

Îxf7+ drops everything, but is now left 

with a lost endgame two pawns down. 

39 Îxf7+ Ëxf7 40 Ìxf7 Êxf7 41 Îe5 Îxe5 

42 Íxe5 d4 43 Êg1 Êe6 44 Íb8 Êd5 45 

Êf1 Êc4 46 Êe2 d3+ 47 Êd1 Êxb5 48 h4 a5 

49 Íe5 Íf2 50 h5 Íe3 51 Íg7 1-0 

 
 

 
Game 30 

S.Rublevsky-Bu Xiangzhi 
Ningbo (rapid) 2010 

 
 

1 e4 c5 2 Ìf3 Ìc6 3 Íb5 d6 4 Íxc6+ bxc6 5 

0-0 Íg4 6 h3 Íh5 

Instead 6...Íxf3 7 Ëxf3 e6 (7...e5 would 

transpose to positions examined in the first 

game of this chapter, Rublevsky-Tiviakov) 8 

d3 d5 9 Ìc3 Ìf6 10 Ëg3 g6 11 exd5! cxd5 

12 Ìb5 Ìh5 13 Ëc7 Ëd7 14 Ëa5 Íd6 15 

Ìxd6+ Ëxd6 16 Íh6 Êe7 17 c4! left Black 

with issues to solve in I.Smirin-F.Berend, 

Moscow Olympiad 1994. 

7 e5!? 

The critical test of Black’s early ...Íg4. 

White exploits the fact that Black has ‘for-

gotten’ to play ...e5 himself. The line is 

somewhat risky as we are obliged to move a 

pawn in front of our king, but I believe it 

promises White good chances. 

7...e6 

This is the solid option, but condemns 

Black to an unpleasant middlegame with 

his weak c-pawns. Alternatives are: 

a) The critical test of White’s idea must 

be 7...dxe5 8 g4 and now: 

a1) 8...Íg6 9 Ìxe5 with a further 

branch: 

a11) 9...Ëd5 10 Îe1 e6 11 Ìc3 Ëd6 12 

d3 Ìf6 13 Íf4 Ìd5 (S.Kasparov-L.Bregadze, 

Internet (blitz) 2007) 14 Ìxg6 Ìxf4 15 

Ìxh8 Ìxh3+ 16 Êf1 Ëf4 17 Ìe4 and Black 

has nothing for the rook. 

a12) 9...f6 10 Ìxg6 hxg6 11 Ëf3 Ëd5 

was tried in I.Rausis-J.Lopez Martinez, 

Badalona 2003, and here I think White 

should keep the queens on with 12 Ëg3 (12 

Ëe3!?) 12...f5!? 13 Ìc3 Ëd7 14 d3 Ìf6 15 
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g5 Ìd5 16 Ìxd5!? cxd5 17 Íf4 and, al-

though the position is unusual, I think 

White has an advantage with control of the 

dark squares. 

a13) 9...e6 10 Îe1 Íd6 (E.Kulovana-

N.Dzagnidze, Dresden 2007) 11 Ëf3 Ëc7 12 

d3! Ìe7 13 Íf4 0-0 14 Íg3 f6 15 Ìc4 Íxg3 

16 fxg3 e5 17 Ìc3 and again the most rele-

vant aspect of the position is Black’s weak 

c5-pawn. 

a2) 8...e4 9 gxh5 exf3 10 Ìc3! is an im-

portant nuance, preventing ...Ëd8-d5. 

W________W 
[rDW1kgn4] 
[0WDW0p0p] 
[WDpDWDWD] 
[DW0WDWDP] 
[WDWDWDWD] 
[DWHWDpDP] 
[P)P)W)WD] 
[$WGQDRIW] 
W--------W 

White will capture the pawn on f3 next 

move, resulting in a very unusual-looking 

position. Of course we’d prefer our h5-

pawn back on g2, but the queen on f3 does 

a good job of keeping our king secure and 

Black’s pieces aren’t really in a position to 

drum up an attack. Meanwhile Black has 

nowhere comfortable for his king either as 

if he castles kingside we can try using the g-

file. We are hoping that we can target 

Black’s queenside pawns, particularly the 

vulnerable c5-pawn. If you have read my 

book on the Grand Prix Attack you will 

know I like hitting those doubled c-pawns. 

This position has been reached a few 

times, but almost every black player has 

tried a different move: 

a21) 10...Îc8 was a rather passive choice 

by the Russian Grandmaster in S.Rublevsky-

A.Dreev, Moscow 2005, and after 11 Ëxf3 

e6 12 d3 Ëf6?! (the queen just gets in the 

way here and leaves Black a long way be-

hind in development) 13 Ëg3 Ëf5 14 Îe1! 

Ëxh5 15 Îe5 Ëg6 16 Îg5 Ëf6 17 Ìe4 Ëd8 

18 Îxg7! White had regained his pawn 

with a large initiative.  

a22) 10...e6 11 Ëxf3 Ëd7 12 d3 Ìe7 13 

Îe1 Ìd5 14 Ìe4 Íe7 15 Íd2 Ìf6 16 Íc3 

Ëd5 was M.Schepetkova-L.Stetsko, Vo-

ronezh 2010, and now 17 h6! Îg8 18 hxg7 

Îxg7+ 19 Êh2 would have picked up mate-

rial. 

a23) 10...Ìh6!? 11 Ëxf3 Ëc8 

(R.Ovetchkin-M.Al Sayed, Moscow 2006) 12 

Ìe4 e6 13 d3 Ìf5 14 Íe3 would immedi-

ately target Black’s weak pawn. 

a24) 10...Ëd7 11 Ëxf3 Ìh6 12 Ìe4 e6 

13 d4! Ìf5 14 dxc5 Ìd4 was seen in 

E.Aranovitch-N.Guliyev, Coubertin 2009, 

and here White should have continued with 

15 Ëd1! with a clearly better position, the 

idea being that 15...f5 can be met by 16 

Íe3. 

a25) 10...Ìf6 has been tried the most of-

ten, leading after 11 Ëxf3 Ëd7 12 d3 to a 

further divide: 

a251) 12...g6 13 h6 g5 14 Îe1 0-0-0 15 

Îe5! 

W________W 
[WDk4WgW4] 
[0WDq0pDp] 
[WDpDWhW)] 
[DW0W$W0W] 
[WDWDWDWD] 
[DWHPDQDP] 
[P)PDW)WD] 
[$WGWDWIW] 
W--------W 
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15...g4 16 hxg4 Ëxg4+ 17 Ëxg4+ Ìxg4 

18 Îxc5 Êb7 19 Îh5 Îg8 20 Êf1 e6 21 Íf4 

Îg6 22 Êe2 Íxh6 23 Íxh6 Ìxh6 24 Îah1 

Ìf5 25 Îxh7 and White was a clear pawn 

up in R.Mamedov-Y.Kuzubov, Lubbock 

2009. 

a252) 12...Ìd5 was suggested by Vigo-

rito. After 13 Ìe4 e6 I think White should 

try 14 c4!?, fixing the c5-pawn on a dark 

square and thus as a constant weakness: 

14...Ìb4 15 Íe3 Ìc2 (or 15...Ìxd3 16 Îad1 

0-0-0 17 Ìg5 Ìe5 – 17...f6? 18 Îxd3 Ëxd3 

19 Ëxc6+ Êb8 20 Ìxe6 is decisive – 18 Ëe4 

Ëxd1 19 Îxd1 Îxd1+ 20 Êg2 Íd6 21 Ìxf7! 

and White has a great advantage) 16 Îac1 

Ìxe3 17 Ëxe3 and White is on top. 

b) 7...d5 has also been tried a few times, 

but this allows 8 e6!, a pawn sacrifice more 

often seen in the Caro-Kann. 

W________W 
[rDW1kgn4] 
[0WDW0p0p] 
[WDpDPDWD] 
[DW0pDWDb] 
[WDWDWDWD] 
[DWDWDNDP] 
[P)P)W)PD] 
[$NGQDRIW] 
W--------W 

Here 8...fxe6 9 g4 (9 Îe1 Ëd6 10 d3 Ìf6 

11 Ìbd2 is also possible) 9...Íf7 10 Ìe5 

Ëd6 was V.Nevednichy-I.Chirila, Cluj 2008, 

when 11 d4! cxd4 12 Ëxd4 Ëc7 13 Ìd2 

Ìf6 14 Ìdf3 would have left White with a 

complete bind. Black will permanently have 

a bishop out of play, as the only way to ac-

tivate the f8-bishop is with ...g7-g6 when 

the f7-bishop will be hemmed in. 

8 exd6 Íxd6 9 d3 

So Black has developed fairly actively, 

but he has a weakened queenside. 

9...Ìf6 

9...Ìe7 was tried the first time this posi-

tion was reached in A.Shirov-B.Gelfand, 

Dortmund 2002. The Latvian continued 10 

Ìbd2 0-0 11 Ìe4 Ìd5 12 Îe1 Îe8 when 13 

g4!? Íg6 14 Ìxd6 Ëxd6 15 h4 h6 (15...f6 16 

h5 Íf7 17 Ìd2 is a little better for White) 

16 Ìe5 Íh7 17 g5 hxg5 18 hxg5 looks very 

promising. 

10 Ìbd2 0-0 11 Ëe2 Ìd5 12 Ìe4 

12 Ìc4 Íc7 13 g4 Íg6 14 Ìfe5 is an al-

ternative approach which I imagine will 

receive some practical tests should this line 

continue to garner interest at the top level. 

It’s dangerous playing with the pawns ad-

vanced in front of your king, but here the 

knights are dominating the bishops so our 

king should be safe. 

12...Íc7! 

W________W 
[rDW1W4kD] 
[0WgWDp0p] 
[WDpDpDWD] 
[DW0nDWDb] 
[WDWDNDWD] 
[DWDPDNDP] 
[P)PDQ)PD] 
[$WGWDRIW] 
W--------W 

13 c4?! 

This is the right idea, but the wrong exe-

cution. The critical try here is 13 g4 Íg6 14 

Ìxc5 (14 c4 Ìb4 15 Îd1 Ëe7 16 a3 Ìa6 17 

Íg5 f6 18 Íh4 is also an interesting ap-

proach) when the key question is whether 

Black can drum up sufficient play against 

the white king in return for our pawn ad-

vantage: 14...Íb6 15 Ìe4 Ëc7 (15...f5 16 

Ìeg5 is nothing to worry about) 16 d4 
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Îad8 17 c3 and I’d say White has decent 

chances to convert his extra pawn, al-

though the position is messy. Practically I 

would probably go for 12 Ìc4 which is 

safer in my view. 

Note too that 13 Ìxc5? fails to 13...Íxf3 

14 Ëxf3 Ëd6. 

13...Ìb4 14 Îd1 

Perhaps Rublevsky intended 14 g4 here, 

but suddenly realized that 14...f5! 15 gxh5 

fxe4 16 dxe4 Ìc2! was rather risky. 

14...Íxf3 15 gxf3 

Very risky, but 15 Ëxf3 Ìc2 16 Îb1 f5! 

would give Black the better prospects as the 

knight has a great square on d4. 

15...Ìa6?! 

The game is rapid, so naturally the play-

ers don’t play the most precise moves. Here 

active play with 15...Ëh4! 16 Êg2 f5! 17 

Ìxc5 Îf6 would have left Rublevsky regret-

ting his 15th move. 

16 f4 Ëe7 17 Êh1 

W________W 
[rDWDW4kD] 
[0WgW1p0p] 
[nDpDpDWD] 
[DW0WDWDW] 
[WDPDN)WD] 
[DWDPDWDP] 
[P)WDQ)WD] 
[$WGRDWDK] 
W--------W 

The position is very complex now. Both 

sides’ pawn structures are compromised 

and White would have big difficulties 

should that black knight manage to find its 

way to d4. Luckily at the moment it’s right 

out of the game on a6. Meanwhile the Rus-

sian can hope to utilize the semi-open g-

file. I think it is still easier for White to play, 

as Black struggles to get his knight into the 

game while White has a simple plan of de-

veloping his pieces and pressuring g7. 

17...Îad8 18 Îg1 f5 

This move gives away too many squares. 

Black should have tried jumping his knight 

back into the position with 18...Ìb4! 19 

Îg3 Îfe8 20 a3 Ìd5! when the endgame 

after 21 cxd5 exd5 22 Ëg4 f5 23 Ëxf5 dxe4 

24 Ëxe4 Ëxe4+ 25 dxe4 Îxe4 26 Íe3 

should be drawn. 

19 Ìg5 Îf6 20 a3 

Keeping the black knight from joining 

the rest of its army. 

20...e5?! 

This gives White an edge. Better was 

20...Ëd6, but after 21 Íd2 h6 22 Ìf3 Ëxd3 

23 Îae1 White has good compensation as 

he has taken over the initiative. 

21 fxe5 

Rublevsky should have started with 21 

Íd2! as there’s no rush to decide matters in 

the centre. Black could try 21...e4, but 22 

dxe4 h6 23 Ìf3 Ëxe4 24 Îae1 looks very 

promising for White with his play down e- 

and g-files. 

21...Ëxe5 22 Ëxe5 Íxe5 23 Ìf3 Îe6 

W________W 
[WDW4WDkD] 
[0WDWDW0p] 
[nDpDrDWD] 
[DW0WgpDW] 
[WDPDWDWD] 
[)WDPDNDP] 
[W)WDW)WD] 
[$WGWDW$K] 
W--------W 

24 Ìxe5 

After this the position drifts towards a 

draw. 24 Îe1 was the last chance to keep 
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an edge: for example, 24...Îde8 25 Ìxe5 

Îxe5 26 Îxe5 Îxe5 27 Íe3 and Bu Xiang-

zhi would have had to play accurately for 

the half-point. 

24...Îxe5 25 Íf4 

Black retakes the initiative after this 

move. 25 Íe3 Îxd3 26 Îad1 Îxd1 27 Îxd1 

would have been more sensible, with de-

cent compensation for the pawn and in fact 

the better practical chances. 

25...Îe2 26 Êg2 

26 Îae1! Îxf2 27 Îe7 Êf8 28 Îgxg7 

Îxd3 29 Îgf7+ Êg8 30 Îg7+ Êf8 would 

have been an amusing draw. 

26...Îxb2 27 Îae1 Îb7 28 Îe6 Îxd3 29 

Îxc6 Îxa3 30 Îd1 Ìb4 

30...Îa4 should have been tried when 

Black is better with his extra couple of 

pawns, although White is active enough to 

have good drawing chances. 

31 Îd8+ Êf7 32 Îxc5 Ìd3 33 Îxf5+ Êe6 34 

Îff8 Ìxf4+ 35 Îxf4 Îc7 36 Îe8+ Êd6 37 

Îd8+ Êe6 38 Îe8+ Êd6 39 Îd8+ ½-½ 

 
 

 
Game 31 

V.Zvjaginsev-T.Asensio Lisan 
Barbera 1996 

 
 

1 e4 c5 2 Ìf3 Ìc6 3 Íb5 g6 

3...d6 4 Íxc6+ bxc6 5 0-0 g6 would be 

the normal move order in this chapter, al-

though it’s useful to know we could also 

reach this position via our 1 e4 c5 2 Ìf3 

Ìc6 3 Íb5 g6 repertoire. 

4 Íxc6 bxc6 5 0-0 d6 

5...Íg7 would of course be the normal 

move here and we’ll see more of it next 

chapter. 

6 d4! cxd4 7 Ëxd4 

This is the reason that 5...g6 is not very 

common (after 1 e4 c5 2 Ìf3 d6 3 Íb5+ 

Ìc6 4 Íxc6 bxc6 5 0-0). Here Black has to 

make a concession to close the a1-h8 di-

agonal. 

W________W 
[rDb1kgn4] 
[0WDW0pDp] 
[WDp0WDpD] 
[DWDWDWDW] 
[WDW!PDWD] 
[DWDWDNDW] 
[P)PDW)P)] 
[$NGWDRIW] 
W--------W 

7...f6 

The ugliest way to deal with the threat, 

but probably the best practical try: 

a) 7...e5 8 Ëd3 leaves Black with the 

problem that ...e5 and ...g6 don’t combine, 

as now either the h6-square or the d6-pawn 

will become exposed: 

a1) 8...Ëb6?! 9 Íe3! Ëxb2 (9...Ía6 10 c4 

Ëxb2 11 Ìbd2 Ëb4 12 Îab1 Ëa5 13 Îb3 

Ëc7 14 Îa3 Íc8 15 c5! also looks terrible 

for Black; true he has netted a pawn, but he 

is so far behind in development that he’s 

really going to suffer) 10 Ìbd2 Ëb5 11 

Ìc4! d5 12 exd5 Ía6 (12...cxd5 is obviously 

not an option because of 13 Ìd6+, while 

12...Ëxd5 13 Ëc3! f6 14 Îfd1 Ëe6 15 Ìd6+! 

is not attractive either) 13 Ëc3! Ëxc4 14 

Ëxe5+ Íe7 15 Ëxh8 0-0-0 16 Ëxh7 Ëxd5 

17 Îfe1 Íb4 18 Íg5 f6 19 Ëxa7 was crush-

ing in D.Marciano-C.Roche, Clermont Fer-

rand 2001. 

a2) 8...Ëc7 would be safer, but White 

held a pleasant edge after 9 c4 h6 10 Ìc3 

Íe6 11 b3 Íe7 12 Íb2 Îd8 13 Îac1 Ìf6 

14 Ìd5! In S.Prudnikova-L.Drljevic, Belgrade 

2003. This pawn structure in general fa-

vours White as Black will find it too hard to 

break with ...d6-d5. 
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b) 7...Ìf6 might seem the most logical 

move, but 8 e5! compromises Black’s pawn 

structure and after 8...c5 (8...dxe5 9 Ëxd8+ 

Êxd8 10 Ìxe5 Êe8 11 Ìxc6 simply wins a 

pawn) 9 Ëa4+ Íd7 White has a pretty 

pleasant choice: 

W________W 
[rDW1kgW4] 
[0WDb0pDp] 
[WDW0WhpD] 
[DW0W)WDW] 
[QDWDWDWD] 
[DWDWDNDW] 
[P)PDW)P)] 
[$NGWDRIW] 
W--------W 

b1) 10 Ëh4 dxe5 11 Ìxe5 Íf5 12 Ìc3 

Íg7 (K.Kerek-J.Bordos, Eger 1999) 13 Îe1! 

Ëc7 (13...0-0 14 Ìc6) 14 Ëa4+ Êf8 15 Íf4 

looks exceedingly unpleasant for Black. 

b2) 10 Ëa3!? looks like an interesting 

option too: for example, 10...dxe5 (10...Ìd5 

is asking for trouble after 11 exd6 exd6 12 

Ìc3) 11 Ìxe5 Íg7 12 Ìc3 (12 Ëxc5 Ìg4 

13 Ìxd7 Ëxd7 14 h3 Ìe5 15 Ìc3 Îc8 16 

Ëe3 Ìc4 leaves Black with enough com-

pensation that a draw is likely) 12...0-0 13 

Ëxc5 Ìg4 14 Ìxd7 Ëxd7 15 Îd1 Ëc8 16 

Ëxc8 Îfxc8 leaves Black with some com-

pensation for the pawn, but it will be an 

unpleasant struggle to hold the half-point. 

8 Îd1 

8 h3!? could also be considered, prevent-

ing Black’s next, as well as ideas of ...Ìh6-

g4. 

8...Íg4 

Or 8...Ìh6 9 h3 (9 Ëc4 Ëb6 10 Ìd4 Ìf7! 

– 10...c5 11 Ìe6 Ìg4 12 Ìc3 Ìe5 13 Ëd5 

and White’s knight on e6 gives him the ad-

vantage – 11 Ëxc6+ Ëxc6 12 Ìxc6 Íb7 13 

Ìd4 Íxe4 14 Ìc3 Íb7 15 Ìe6 Îb8 16 Ìb5 

also looks more pleasant for White) 9...Ëb6 

10 Ëc3 (10 Ëd3 Íg7 seems more or less 

okay for Black) 10...Íg7 11 Íe3 c5 12 a3 0-0 

13 b4 f5 14 e5 and White’s queenside play 

promises him the advantage. 

9 Ëd3 

The most natural way to defend the 

knight, but White has an interesting alter-

native in the shape of 9 Ëa4!? with the idea 

9...Ëb6 (9...Ëd7 10 Ìbd2 should also be a 

little better for White) 10 Íe3 Ëb5 11 

Ëxb5 cxb5 12 Ìc3 with a great queenless 

middlegame in prospect as Black’s queen-

side pawns are rather weak. 

9...Ìh6 10 h3 Íd7 

A slightly strange choice, retreating, but 

10...Íxf3 11 Ëxf3 Ìf7 12 c4 Íg7 13 c5 

gives White the advantage without any 

danger. 

11 c4 c5 

11...Íg7 12 c5 would be awkward for 

Black. 

12 Ìc3 Ìf7 

W________W 
[rDW1kgW4] 
[0WDb0nDp] 
[WDW0W0pD] 
[DW0WDWDW] 
[WDPDPDWD] 
[DWHQDNDP] 
[P)WDW)PD] 
[$WGRDWIW] 
W--------W 

13 Ìd5 

A nice-looking move, but this doesn’t 

really achieve anything. It was better to 

play on the queenside with 13 Íe3 Íg7 14 

a3 a5 (14...0-0 allows White to choose be-

tween 15 b4 and 15 Íxc5!?, both with an 
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edge) 15 b4 axb4 16 axb4 Îxa1 17 Îxa1 

cxb4 18 Ìd5 0-0 19 Îa7! and White has a 

promising initiative. 

13...Íg7 14 Íd2 0-0 15 Íc3 Ìe5?! 

I think this is the start of a mistaken 

plan. Black needs to keep the knight to sup-

port his d6-pawn. 15...e6 16 Ìe3 Íc6 

would leave a roughly balanced position. 

16 Ëe2 

16 Ìxe5 fxe5 17 Íd2! h6 18 Íe3 would 

have given White a pleasant advantage, as 

he could start his queenside proceedings 

while Black’s g7-bishop is blocked out of 

play, and 16 Íxe5!? fxe5 17 a3 also looks 

good for White. 

16...Ìxf3+ 

16...Ìf7! would still have been fine for 

Black. 

17 Ëxf3 a5 18 Ëe2 Îf7 19 Îd3 Íh6 20 

Îad1 Îa7 21 h4! 

W________W 
[WDW1WDkD] 
[4WDb0rDp] 
[WDW0W0pg] 
[0W0NDWDW] 
[WDPDPDW)] 
[DWGRDWDW] 
[P)WDQ)PD] 
[DWDRDWIW] 
W--------W 

The Russian GM comes up with a strong 

plan exploiting Black’s early ...f6, which has 

left his kingside vulnerable. 

21...e6?! 

Black cannot get away with this move 

once he has exchanged knights, but it’s 

hard to sit still when White has started to 

attack his king. 

22 Ìe3 

22 Ìxf6+ Îxf6 23 Íxf6 Ëxf6 24 Îxd6 

must also be good for White, but Zvjaginsev 

decides not to imbalance the position. 

22...Íf4? 

I’m not sure what Asensio Lisan missed 

here as it’s obvious the bishop won’t be 

able to defend d6 for long on this diagonal. 

22...Íf8 was forced, although White has a 

great position after 23 h5 e5 24 hxg6 hxg6 

25 Ìd5. 

23 g3 Íe5 24 Ìg4 Ëf8 

This allows White a winning tactic. 

24...Êh8 was more tenacious, although 25 

Ìxe5 (25 f4 Íxc3 26 bxc3 is sufficient to 

win a pawn) 25...dxe5 26 Ëe3 Ëc7 27 g4! 

followed by 28 g5 leaves White with a deci-

sive advantage. 

25 Ëe3 

25 Íxe5 dxe5 26 Ìxf6+! wins at once. 

25...Êh8 26 Íxe5 dxe5 27 Ìxf6! 

W________W 
[WDWDW1Wi] 
[4WDbDrDp] 
[WDWDpHpD] 
[0W0W0WDW] 
[WDPDPDW)] 
[DWDR!W)W] 
[P)WDW)WD] 
[DWDRDWIW] 
W--------W 

He finds it second time round! 

27...Îxf6 28 Îxd7 Îxd7 29 Îxd7 Ëc8 30 

Ëd2 1-0 

 
 

 
Game 32 

N.Somborski-E.Kolbert 
Vrnjacka Banja 2008 

 
 

1 e4 c5 2 Ìf3 d6 3 Íb5+ Ìc6 4 Íxc6+ bxc6 

5 0-0 Ìf6?! 
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W________W 
[rDb1kgW4] 
[0WDW0p0p] 
[WDp0WhWD] 
[DW0WDWDW] 
[WDWDPDWD] 
[DWDWDNDW] 
[P)P)W)P)] 
[$NGQDRIW] 
W--------W 

This is a careless mistake which a lot of 

your opponents are likely to make, thinking 

it will simply transpose to the first couple of 

games seen in this chapter. Indeed I made 

this mistake once and had to suffer. 

5...e6 is quite similar and again White 

should react with 6 e5! d5 (anything else 

will more or less transpose to the game 

continuation) 7 d3 Ìe7 8 b3 Ìg6 and then: 

a) 9 g3!? Íe7 10 Íb2 0-0 11 Ìbd2 Íd7 

12 h4 f6 13 Îe1 Ìxe5 14 Ìxe5 fxe5 15 

Íxe5 Íf6 16 f4 Íe8 17 Ëg4 and White had 

total control in S.Maze-B.Buehler, Geneva 

2005. For a more detailed discussion of 

playing against Black’s doubled c-pawns, 

see Starting Out: Sicilian Grand Prix Attack. 

b) I like the look of 9 Ìc3. 

W________W 
[rDb1kgW4] 
[0WDWDp0p] 
[WDpDpDnD] 
[DW0p)WDW] 
[WDWDWDWD] 
[DPHPDNDW] 
[PDPDW)P)] 
[$WGQDRIW] 
W--------W 

It looks strange to put our knight in 

front of the c-pawn when we want to play 

c2-c4, but the idea is to first put the knight 

on a4 to hit the c5-pawn and then fix it 

with c2-c4: for example, 9...f6 (9...Ía6 10 

Ía3 Ëa5 11 Ìa4 Íb5 12 Ëe1 Ëxe1 13 

Îfxe1 Íxa4 14 bxa4 Íe7 15 Îab1 would 

leave Black in a rather unpleasant end-

game, as the c5-pawn will drop within a 

few moves) 10 Ìa4 fxe5 11 Ía3 Íe7 12 

Íxc5 would give White an edge. 

6 e5! 

It shouldn’t come as a surprise that I 

suggest this move after we have seen 

Rublevsky-Bu Xiangzhi with 5...Íg4 6 h3 

Íh5 7 e5!?. 

6...Ìd5 

Alternatively: 

a) I tried 6...Ìg4, but after 7 Îe1 I felt 

obliged to play 7...Ìxe5 8 Ìxe5 dxe5 9 

Ëh5! Íe6 10 d3 (during the game I was 

rather concerned about 10 b3 Ëd4 11 Ëxe5 

Îd8 12 Íb2 Ëxe5 13 Îxe5, leaving Black in 

a truly ugly position) 10...g6 11 Ëxe5 Ëd4 

and here in R.Hart-G.Jones, Auckland 2009, 

12 Ëc7! would have left me with serious 

problems. 

b) 6...Ìd7 7 Ëe2 would still force Black 

to make a structural concession, as 7...d5 8 

e6 fxe6 9 Ëxe6 is good for White. 

c) 6...dxe5 7 Ìxe5 Ëc7 8 Îe1 e6 9 Ìa3 

Ía6 10 Ìac4 Íe7 11 Ëf3 Îc8 12 b3 0-0 13 

Íb2 Îfd8 14 d3 is an instructive set-up to 

remember; Black’s pieces have been com-

pletely restrained, T.Oral-M.Rachela, Ko-

marno 1997. 

7 h3 

Preventing the bishop coming to g4. 

7...e6 

The bishop on c8 is now left without 

much future. That said, the bishop is 

scarcely any better located after 7...Íf5 8 

d3 e6 9 Ìbd2 Íe7 10 exd6 Íxd6 11 Ìe4. 
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8 d3 h6 9 Ìbd2 Ìb6 

W________W 
[rDb1kgW4] 
[0WDWDp0W] 
[Whp0pDW0] 
[DW0W)WDW] 
[WDWDWDWD] 
[DWDPDNDP] 
[P)PHW)PD] 
[$WGQDRIW] 
W--------W 

10 exd6! 

Of course we don’t want to allow Black 

to keep his structure intact with ...d6-d5. 

The resulting position is very pleasant for 

White who can start to put pressure on 

Black’s weak c5-pawn. If we compare the 

position to Rublevsky-Bu Xiangzhi (Game 

30), we can see that we have a big advan-

tage thanks to the light-squared bishop 

being shut out of play on c8, rather than on 

h5. Black struggles to find any counterplay 

here and must endure his lousy position. 

10...Íxd6 11 Ìe4 Íe7 

11...0-0 12 Íe3 f5!? 13 Ìxd6 Ëxd6 

would leave Black with weaknesses, but at 

least then he has a bit of space to himself. 

White is still clearly better here, however, 

and after 14 Îe1 e5 we should play the 

surprising 15 Íc1! (15 Íd2 allows the in-

teresting pawn sacrifice 15...e4! 16 dxe4 

fxe4 17 Îxe4 Íf5 18 Îe1 Îad8 when White 

should still be on top, but Black is starting 

to get some activity) 15...e4 (15...Ìd7 is met 

by 16 Ìxe5! Ìxe5 17 Íf4 Îe8 18 Ëe2, pick-

ing up a pawn and retaining all the posi-

tional pluses) 16 dxe4 Ëxd1 17 Îxd1 fxe4 

18 Ìe5 Íb7 19 Íe3 and White has a great 

endgame. 

12 Ìe5! 

White’s knights take over. 

12...Ëd5 13 Íf4 c4 

Black’s position is already so terrible 

that this move is practically forced. 

13...Íb7 would allow 14 a4! a5 15 c4! 

Ëd4 16 Ëb3 Îa6 and I can’t imagine any 

sane player wanting to be Black here. In 

fact White could win a pawn immediately 

with 17 Ìf3 Ëd8 18 Íe3. 

14 Ìc3 Ëd4 15 Ëf3 Íb7 16 Îad1! 

Energetic play from Somborski who 

doesn’t allow his opponent any time to set-

tle. 

16...cxd3 

16...0-0 17 dxc4 Ëc5 18 Ìe4 would leave 

White a pawn up, with continued posi-

tional advantages and the start of an attack 

on the kingside. 

17 Îxd3 Ëc5 18 b4! 

Classic deflection! 

18...Ëxb4 19 Íxh6 0-0 

An unfortunate necessity; the f7-square 

needed defending. 

20 Íxg7! 

W________W 
[rDWDW4kD] 
[0bDWgpGW] 
[WhpDpDWD] 
[DWDWHWDW] 
[W1WDWDWD] 
[DWHRDQDP] 
[PDPDW)PD] 
[DWDWDRIW] 
W--------W 

20 Ìe4! was also winning and perhaps 

the most accurate approach: 20...gxh6 

(20...f5 21 Ëg3) 21 Ëf4 Êh7 22 Ìxf7. 

20...Êxg7 21 Ìe4 

The knights block out the queen and 

leave the king defenceless. 
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21...f5 22 Ëh5 f4 

The pawn has to prevent the rook com-

ing to g3: for example, 22...Ëxe4 23 Ëg6+ 

Êh8 24 Ëh6+ Êg8 25 Îg3+ mates. 

23 Ëg6+ Êh8 24 Ëh6+ Êg8 25 Ëxe6+ Êg7 

26 Ëg6+ Êh8 27 a3! 

W________W 
[rDWDW4Wi] 
[0bDWgWDW] 
[WhpDWDQD] 
[DWDWHWDW] 
[W1WDN0WD] 
[)WDRDWDP] 
[WDPDW)PD] 
[DWDWDRIW] 
W--------W 

Causing the queen to lose contact with 

the e7-bishop and the d6-square. 

27...Ëa4 28 Îd6!? 

Somborski is having fun and indeed 

White has hundreds of different wins here, 

including 28 Ìg5 Íxg5 29 Ëh5+ Êg7 30 

Ëxg5+ Êh8 (30...Êh7 31 Îd6 is mate in 

two) 31 Îd6 when Black is forced to play 

31...Ëe4 to prevent an immediate mate, 

although 32 Îh6+ Ëh7 33 Ìg6+ Êg7 34 

Ìe7+ still mates very quickly. In fact here 

the fastest finish would be 31 Ìg6+ Êg8 32 

Ìe7+ Êf7 33 Ëg6+ Êxe7 34 Îe1+ Ëe4 35 

Îxe4 mate. 

28...Ëxe4 29 Ëh5+ Ëh7 30 Îh6 Ëxh6 31 

Ëxh6+ Êg8 

Materially the position isn’t so bad for 

Black, but unfortunately for Kolbert every-

thing is falling with check while the mate 

threats haven’t disappeared. 

W________W 
[rDWDW4kD] 
[0bDWgWDW] 
[WhpDWDW!] 
[DWDWHWDW] 
[WDWDW0WD] 
[)WDWDWDP] 
[WDPDW)PD] 
[DWDWDRIW] 
W--------W 

32 Ëe6+ Êh8 33 Ëxe7 Ía6 34 Îd1 Ìd5 35 

Ëh4+ Êg7 36 Ëg5+ Êh7 37 Ëg6+ Êh8 38 

Ëxc6 1-0 

 

Conclusion 

You will face the Hybrid Variation fairly of-

ten as it can be reached by two different 

move orders. This is a more dynamic at-

tempt than the previous couple of chapters; 

Black takes the structural risk of doubled c-

pawns in the hope that he can take the ini-

tiative. The topical line examined in Game 

30 should be studied carefully, but I believe 

White has good chances in the unusual po-

sitions which arise. It is also important to 

investigate the aggressive attempts of 

Games 27-29, although I believe White is 

doing very well theoretically there too. 


